@ ﬁ % //({ Addition upp till 10 (lagg till 1)

e Datum: Poing;
s 6+ 1= 741 = 1+1-=
orl= Trl= 5+1= 4+1=
= 9+1= 7+1= 9+1=
6+1= 1+1= 6+1= 1+1=
2+1= 3+1= 4+1= 3+1=
I+1= 2+1= 6+1= 9+1=
2+1= 8+1 = 9+1= 741 =
S+1= 7+1= 1+1= 10+1 =
4+1= S5+1= 10+1 = 2+41=
1+1= 4+1= 9+1= 4+1=
§+1= S5+1= 10+1 = 5+1=
2+1= 9+1= 341 = 741 =
9+1= 10+1 =

www.snowmath.com


https://www.snowmath.com

Rie 7@

Addition upp till 10 (lagg till 1)

namn:

4+1=5

6+1=7

5+1=6

6+1=7

2+1=3

I1+1=2

2+1=3

5+1=6

4+1=5

I1+1=2

8+1=9

2+1=3

9+1=10

6+1=7

7+1=28

9+1=10

l+1=2

3+1=4

2+1=3

8+1=9

7+1=28

5+1=6

4+1=5

5+1=6

9+1=10

10+1=11

Datum: Poing:
7+1=38 1+1=2
5+1=6 4+1=5
7+1=38 9+1=10
6+1=7 1+1=2
4+1=5 3+1=4
6+1=7 9+1=10
9+1=10 7+1=38
1 +1=2 10+1=11
10+1=11 2+1=3
9+1=10 4+1=5
10+1=11 5+1=6
3+1=4 7+1=38
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